
SG3IN1
3 IN 1 SOCCER 

TRAINING GOAL

Features: 
• Soccer goal, rebounder, and target all-in-one
• Heavy-duty, weather-resistant 1.25" powder-coated 6' x 4' frame
• Easy-push button assembly
• 4'x4' Polyethylene net with self stick hanging loops
• Includes bungee cord, rebounder, and targets for multiple uses
• Adjustable clamps for multiple rebound angles
• 6' x 3' x 4'

Champion Sports • One Champion Way • Marlboro, NJ • 07746-0368 • 888-980-1200 
Continued instructions on reverse side.

Instructions: 
ASSEMBLING THE FRAME - 
1. Insert pole #1 into the end of pole #2 and press together until

the pushbutton snaps into place. Repeat step 1 for the
remaining # 1 and 2 poles.

2. Insert pole #6 into each open end of the #1-2 section already
assembled. Make sure the poles line up.

3. Insert pole #4 into pole #5 and press together until it snaps into place.
4. Align the hole in the flat end of pole #3 with the hole in pole #6 and the hole at the end of pole #4. Insert 

screw #10 with washer into the aligned holes and tighten just enough to allow pole #3 to pivot.  Repeat 
aligning poles #3, #6 and #5. This completes the base section.

5. Press the tilt lock collar #9 onto the pole. Align the hole in the flat end of pole #8 with the hole in pole #2. 
Place one washer onto screw #9 and insert it through.

6. Press the tilt lock collars #9 onto the #8 poles. Make sure the lever on the tilt lock collar #9 is in the open 
position and insert one pole #7 into the tilt lock collar on each pole. Adjust the length of both #7-8 poles to 
the same length. Rotate the #7 poles parallel to each other, and close the tilt lock collars.

7. With an assistant, raise the #3-1-2-3 section to a vertical position while aligning the holes in the flat ends of 
the #7 poles with the holes in the #1 and #2 poles. Place washer onto screw and insert through the hole in 
pole #1. Place washer and wing nut onto protruding screw and tighten just enough to allow pole #7 to 
pivot. Repeat step 1, 2 & 3 for pole #2 at the opposite side.

1-37” Long 2 pcs

2-37” Long 2 pcs

3-42” Long 2 pcs

4-37” Long 1 pc

5-36.5” Long 1 pc

6-21.5” Long 2 pcs

7-19” Long 2 pcs

8-23.5” Long 2 pcs

10-Screws 
2 pcs

11-Screws 
4 pcs

12-Washers 
12 pcs

9-Tilt Lock
Collar 2 pcs14-Bungees

30 pcs 13-Wing 
Nuts 6 pcs

18-Ground
Stakes
4 pcs

19-Self-Stick
Fasteners
30 pcs

15-
Rebounder 
Net

16-
Target
Net

17-
Goal Net
Shape may 
Vary

Refer to parts illustrations to
help identify pole sections and sizes.



SG3IN1
3 IN 1 SOCCER TRAINING GOAL 

Champion Sports • One Champion Way • Marlboro, NJ • 07746-0368 • 888-980-1200 

ATTACHING THE SOCCER GOAL NET - 
1. With the help of an assistant, spread the net over the frame starting at the top two corners of the narrow 
    side (red tabs), see the components diagram on page 2. Attach the net at the top corners using two self-stick 
    fasteners #19 at each corner. Continue to attach the net to the frame using 6 self-stick fasteners on the top 
    front and bottom back poles, 5 self-stick fasteners on the vertical front poles and 4 self-stick fasteners on the 
    bottom side poles.

ATTACHING THE REBOUNDER NET - 
1. With the help of an assistant, spread the net across the frame. Attach two bungees at points A (red tabs) as  
    shown. Wrap the bungee cord around the frame and through a net loop. Pull the bungee ball through the 
    bungee cord loop to secure. (Detail A). Repeat this step for the bottom of the net. Continue to attach the 
    bungees to the frame and net. Attach eight bungees on the top and bottom frame sections and seven 
    bungees on the side frame sections for a total of 30 bungees. To increase or decrease the rebound angle, 
    simply pull the latches on the tilt lock collars open to unlock the collars, (Detail B), tilt the net frame to the 
    desired angle, (Detail C), and push the latches closed. Make sure the latches are fully closed before using 
    the rebounder. 

ATTACHING THE TARGET NET - 
1. Follow the procedure indicated in the above step except for use only 16 bungees. Store the unused bungees 
    in a safe place for later use. 

WARNINGS:
• Always anchor goal. An 
unsecured goal can fall over 
causing injury or death.
• Adult supervision is 
required at all times when 
rebounder is used by 
children.
• NEVER let children climb on 
rebounder as this can result 
in rebounder falling over 
causing injury or death.
• To reduce the risk of 
entanglement, keep small 
children away from the net 
area at all times.
• When properly assembled 
and sued as intended, this 
rebounder is designed to 
provide many hours of 
playing enjoyment.


